

## قوانين مشتقات الدوال المثلثية

$$\frac{d}{dx} \tan x = \sec^2 x$$

$$\frac{d}{dx} \cot x = -\operatorname{csc}^2 x$$

$$\frac{d}{dx} \cos x = -\sin x$$

$$\frac{d}{dx} \sin x = \cos x$$

$$\frac{d}{dx} \sec x = \sec x \tan x$$

$$\frac{d}{dx} \operatorname{csc} x = -\operatorname{csc} x \cot x$$

EX 3/  $y = \cos x \tan 3x$

$$\begin{aligned} \frac{dy}{dx} &= \cos x (\sec^2 3x \cdot 3) + \tan 3x (-\sin x) \\ &= 3 \cos x \sec^2 3x - \sin x \tan 3x \end{aligned}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{-\sin^2 \Delta x}{\Delta x (\cos \Delta x + 1)} = - \lim_{\Delta x \rightarrow 0} \frac{\sin \Delta x}{\Delta x} \cdot \frac{\sin \Delta x}{\cos \Delta x + 1}$$

$$= -1 \left( \frac{0}{1+1} \right) = 0$$

$$\begin{aligned} \frac{dy}{dx} &= \sin(0) + \cos X (1) \\ &= 0 + \cos X = \cos X. \end{aligned}$$

$\therefore \frac{d}{dx} \sin x = \cos x$	prove.
---	--------

Ex. 1 / Find  $\frac{dy}{dx}$  for the function  $y = \sin 3x$

Sol<sup>n</sup> -  $y = \sin 3x$

$$y' = \cos \cdot 3x \cdot 3$$

~~u~~ ~~v~~ ~~w~~ ~~x~~ ~~y~~ ~~z~~ ~~...~~ ~~...~~ ~~...~~ ~~...~~ ~~...~~

↓	↓
$3x \rightarrow 3$	$\sin 3x \rightarrow \cos 3x$

Ex 2 /  $y = 2 \sin(x^2 - 1)^2$

$$\frac{dy}{dx} = 2 \cos(x^2 - 1)^2 (2(x^2 - 1) 2x)$$

$$= 8x(x^2 - 1) \cos(x^2 - 1)^2$$



# Derivatives of trigonometric functions:

$$1. \frac{d}{dx} \sin x$$

$$y = \sin x \rightarrow f(x) = \sin x$$

$$f(x + \Delta x) = \sin(x + \Delta x)$$

$$\frac{dy}{dx} = \lim_{\Delta x \rightarrow 0} \frac{f(x + \Delta x) - f(x)}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\sin(x + \Delta x) - \sin x}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\sin x \cos \Delta x + \cos x \sin \Delta x - \sin x}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\sin x (\cos \Delta x - 1) + \cos x \sin \Delta x}{\Delta x}$$

$$= \lim_{\Delta x \rightarrow 0} \sin x \left( \frac{\cos \Delta x - 1}{\Delta x} \right) + \lim_{\Delta x \rightarrow 0} \cos x \frac{\sin \Delta x}{\Delta x}$$

$$\text{Now: } \lim_{\Delta x \rightarrow 0} \frac{\cos \Delta x - 1}{\Delta x} = \lim_{\Delta x \rightarrow 0} \frac{\cos \Delta x - 1}{\Delta x} \cdot \frac{\cos \Delta x + 1}{\cos \Delta x + 1}$$

$$= \lim_{\Delta x \rightarrow 0} \frac{\cos^2 \Delta x - 1}{\Delta x (\cos \Delta x + 1)}$$

1

$$\text{EX 4 / } y = \tan \sqrt{3x}$$

$$\begin{aligned} \frac{dy}{dx} &= \sec^2(3x)^{\frac{1}{2}} \cdot \frac{1}{2} (3x)^{-\frac{1}{2}} \cdot 3 \\ &= \frac{3}{\sqrt{3x}} \cdot \sec^2 \sqrt{3x} \end{aligned}$$

$$\text{EX 5 / } y = \sin^2\left(\frac{1}{x}\right)$$

$$y = \left(\sin\left(\frac{1}{x}\right)\right)^2$$

$$= 2 \left(\sin\left(\frac{1}{x}\right)\right) \left(\cos\left(\frac{1}{x}\right)\right) \cdot \frac{-1}{x^2}$$

$$= \frac{-2}{x^2} \sin \frac{1}{x} \cos \frac{1}{x}$$

$$\text{EX 6 / } y = \sin$$

$$\frac{dy}{dx} = \cos(7x^2 + 4x + 1) \cdot (14x + 4)$$

Rule	$\frac{\sin x}{x} = 1$
------	------------------------